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The length of a rectangle is 6 inches more than twice the width. If the perimeter of the rectangle is 102 inches, find the length and width.  Then find the area of this rectangle.
We are given a rectangle with a perimeter of 102 inches. Let w represent the width of the rectangle. Since the length is 6 inches more than twice the width, the length can be represented as 2w 6. Since the perimeter is 102 inches, we have the equation:
w + w + 2w + 6 + 2w + 6 = 102
Solving Equation:
Simplify 1st:  6w + 12 = 102
Isolate 2nd:     6w = 102 -12
		    6W = 90 / 6
		    w = 15
Now Substitute the answer into the expressions:
	width: w = 15
	length: 2w + 6    2(15) + 6 = 36
Area =  Length x width
Area = 36 x 15   Area is 540.


Example Rectangle Problem with Work Provided

“The fengh of a rectangl i 6 inches more thantwic the width. I
the permete of the ecangle s 102 nches, find the engthand
i Then o the arca f this rectangle.

We e iven  ecangle witha perimeerof 102 inches, Let
epresent the width o he retangle. Snce the length s  nches
morethan twie the wdh the engthcan be reprsenid as 2+ .
Sinc he permetr i 102 inches, we have the cquaion:

W 2w 64 2w 62102
Solving Equation

Simpity 1% 6 + 122102
Iolte 2% 6w = 102
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Now Subsiue theamswer o the expresion:
widtew =15
engihi 2w 6. 2015) +6=36
Area= Lengih x width
Area=36x15 Arais 40,



